EARAROBEEIERT — 2 N— IBISH —F

2013%8A 110 (B) 2B/M\E6H

LN 55> FCc 5007T ¥5R3KE (

R’E)

(45E) T2

‘ [R1%] & ‘ [REBE] — | Z (%) 18000 B

[A&E£] 17 :9,900,000 § ~ 23 :4,000,000 8  37:2,500,000H 47 :1,500,000 % ~ 537 :990,000 H

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
TI—F— # o3 | ESR 1:45.9 7-7-8-6 |33.8| 98.9 | 1 | 480 |AEBE &R
1 3 54.0 (=) () |ETFBEAF—LT TR ()
A :Redoute’s Choice B:H>F—XTAIL2 =Y Tr—L
SR 44 | MK 1:46.1 12-11-9-8 | 33.8| 96.7 | 4 478 | WIFH (RR)
2 5 10 'ﬁ// |‘ U—-L\ 57.0 (1 1/4) (0) (%) /97U
L:F=TANNT N BiA—AYF I ARNTE— J—HrTr—LA
S e — 4 3 | HPE 1:46.3 2-2-2-2 | 34.8| 93.0 | 8 450 |FEHRE (FEX)
hr/ 77w IN 52.0 (1 1/4) (+26) HOEET
L:24x2 4 ML BRIV HTAF v HET7—L
N = 4 6 | KOED 1:46.5 11-11-13-12| 33.9 | 92.4 | 11 506 | —AHIR— (&)
Hho/AZ2—F14 b 55.0 ( 1/4) © |1rB
LX-NFAYLF— BiEPva-bLIw ALY
o = s AR — 146. —-4-4~ . . mkEkR (EX)
TYT+>574> [B] "IN 1(,‘\13)5 dracdh 34T 922 6 5232) HOH, Sads - ENAK
R:T7RRAYL—> BTLIFT/T7—L H—L— - TxIN> - T7—LARSE
= N S, o 4 3 | JIIEREHE 1:46.7 5-5-4-4 |34.8| 89.8 | 13 | 442 |HAEIEE (ER)
TAINy 3> 52.0 (1 1/4) (+4) ANAKET
LBATATv— B:ZAY 2 N—F 1 — () #A—-KL—va>AET77
N = o t 3 | EREJ 1:46.8 9-9-6-6 |34.8| 89.1 | 5 486 | BEEIEHR (RR)
JLAZATIVTA X * 54.0 (1/2) +12) ) FYU—>Ty—L
L:FFHRTFLT BTIALRTLAZR HET7— L
oy, o # 3 | K& 1:46.8 14-15-13-9 | 34.2 | 89.1 | 3 446 | BREE (RR)
ER> 54.0 (745=) (+4) |MEDE—
L:N=Y7714 B:ET=Xh KRB
— RHE 146. -3-3- . . =2/ (FR)
24T 4 —Za—1 # 5 o 1(;(;? 3-3-3-1 |35.2| 86.4 | 9 (4_526) i
RZFAT—IE BRATA—HT— (B) #HEaA—KL—a>AETr
- 5 NN BEEEX 147. -14-15- . . AAfREES (BR)
wolslo| 5972751 i 4 B 1(417)0 14-14-15-15| 34.2 | 87.0 | 10 (::j) }%:a
L:T77NT5T7 BOXTYXZR IJEITRI AL R
i 2 # 5 | dERKR— 1:47.2 12-11-11-14| 34.7 | 84.8 | 2 470 | FRFE (FH)
11 5 TAT1a—=V—=7 57.0 (11/2) (46) |IEEET
L:rh—-> B:xvIv b FIE
; =5, #H o4 | BERK 1:47.5 9-10-11-12 [ 35.1 | 81.2 | 14 | 456 |HFEFIE (EX)
V) 1 FABAE U T 57.0 (1 3/4) (o) | W) ¥5TLy k575747
L:vAxNTT B:VELIA— | nliEse ]
i 4 5 | ERHEN 1:47.5 7-7-9-10 | 35.2| 80.5 | 12 484 | HBOBARER (EH)
13\ 7[14| 7 — ST 67.0 (nF) o) |
RN=V9754 B:T773V-N14TIL HE77—»4L
S, o EHMEF 1:48. 1-1-1-2 5| 75.4 | 7 482 | EEB— (RR)
140011 77 a>nN1% i g 54.0 (3?)0 %578 (; NAF ()
R A hk—1 BT RTT MNAF RS
S NN 4 3 | EEMER 1:48.2 16-16-16-16| 35.1 | 74.5 | 15 | 428 |#AKEM (RXR)
15/ 8115 A4 a9HY 52.0 (3/4) o) VRZ’SEK
LiFATA T v— BRFA M) —2%— Hte
=\ 4 3 | REREX 1:49.3 5-5-6-10 | 37.3| 64.1 | 16 472 | BEEE (FX)
1611 7H7NTTA 54.0 &) o |FHEE
R:TANKSy Y2 BiFLTIXTY— FEHIS
@ 71 L
) 46.3-34.4
NA>Z4 L | 12.2-10.9-12.0-12.2-12.3-11.9-11.5-11.4-11.5
® I —F—@EBIERL
13—3— 11,13,16,2(1,6) (3,14) (7,8)4(5,10)-(9,12)15
2=1—f— 11,13,16,2(1,6) (3,14)8,7(5,4,10)-9,12-15
Gol=5r= (x11,13)16(6,2) (1,8)3(14,10) (7,5) (4,12)9-15
40—F— (11,13,16) (6,2) (3,8)10,12(1,14) (7,4)5,9,15
[ N3
H OB 3 160/ 714K 3-10 300M e E 2-5 530 JEHE 3-10-13 3,590
8 B 3 110M 3-13 680M B = 3-10 640M B 3-10-13 8,590
10 200M 10-13 2,130 B H 3-10 840M
13 510M

ABICOVWTRDTEEERROODE. TR LIV,




